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Notes: 1.

All questions carry equal marks.
2. Solve any five questions minimum one question should be from each section.

SECTION - A (Theory)

Explain the decision making theory under risk and certainty and utility.
What do you understand by statistical quality control? Explain the characteristics and
types of quality control.
Describe in brief, the different methods of measuring ‘Trend' in analysing time series
stating its merits of each.
SECTION - B (Problems)
Calculate co-efficient of correlation between marks in Financial Accounting & marks in
STBM obtained by 70 students of B. Com. .
Marks in Marks in Financial Accounting
STBM
25 35 45 55 65
25 1 1
35 3 8 7
45 2 6 13 9
55 1 5 3 4
65 2 3 2
Following table shows the association among 1000 school boys between their general
ability & their Mathematical ability. Calculate co-efficient of contingency.
Mathematical -
Ability General Ability
Good Fair Poor
Good 44 22 4
Fair 265 251 178
Poor 41 91 98
Following are the marks obtained by 492 candidates in a certain examination.
Not more than 40 marks — 210 candidate
Not more than 45 marks — 253 candidate
Not more than 50 marks — 307 candidate
Not more than 55 marks — 381 candidate
Not more than 60 marks — 413 candidate
Not more than 65 marks — 492 candidate
Find out the No. of candidate
i) Who secured more than 48 but not more than 50 marks.
i) Less than 48 but not less than 45 marks by applying Newton's method.
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A Survey was conducted in respect of marital status & success in examination out of 2000
person who appeared for an examination 80% of them were boys & rest were girls. Among
300 married boys 140 were successful. 1100 boys were successful among unmarried boys.
In respect of 100 married girls 40 were successful 200 unmarried girls were successful.
Construct two separate Nine Square table & find out co-efficient of association to discuss
the association between marital status & passing of examination.

Following table gives the yield of 4 plots each of three varieties of wheat. Find out the
variety difference are significant.

Yield Total
A 26 27 28 31 112
B 18 19 21 22 80
C 16 18 19 19 72
264
Table value of f =33.6
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1. ffRardar anfor Sugaaar arean shiResared Fofarar feard faere a1, 16
2. HiRTDIT ToTac =0T AR STIUT B 3rfare gar? |iReadrd orac Haaomar dRTera 16
IHR faere a1
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fawm s
a. SISH HIEHHIGIHTOT 16
5. STSTT HTETHTIHTOY 16
6. ST ATETHTIHTOY 16
7. SIS HATETHTYHTOY 16
8. SUST ATEHTIHTOY 16
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